
-11-

5．伝導関係　(その1)

符号 部品コード 部品名称 個数 備   考 小売単価

1 ZA0631-513-011-0 Eﾌﾟｰﾘ(RX) 1
2 ZA0630-510-012-1 ｺｸﾞﾍﾞﾙﾄ(SA52HP4) SA52HP4 1
3 ZA0630-510-013-0 Vﾍﾞﾙﾄ(W800SB58) SB58W800 1
4 ZA0385-510-210-0 ﾍﾞﾙﾄｽﾄｯﾊﾟCOMP 3
5 ZA0630-510-014-0 ﾍﾞﾙﾄｽﾄｯﾊﾟ(ｼﾀ) 1

6 ZA0630-510-015-0 ﾍﾞﾙﾄｽﾄｯﾊﾟ(ｳｴ) 1
7 ZAV211-360-802-0 ｺｶﾞﾀﾎﾞﾙﾄ(SP) M8X20 2
8 ZA0630-510-210-0 ﾍﾞﾙﾄｶﾊﾞｰﾄﾘﾂｹCOMP 1
9 ZAV211-360-802-5 ｺｶﾞﾀﾎﾞﾙﾄ(SP) M8X25 2
10 ZA0630-510-220-0 Mﾌﾟｰﾘｶﾊﾞｰ(ｳﾁ)COMP 1

11 ZAV211-360-801-6 ｺｶﾞﾀﾎﾞﾙﾄ(SP) M8X16 5
12 ZA0317-510-210-0 ﾐﾂｼﾖﾝﾌﾟｰﾘCOMP 1
13 ZA8935-013-015-0 ｶﾂﾌﾟﾘﾝｸﾞｷ- 1
14 ZA8935-001-062-0 ﾒﾀﾙｻﾞｶﾞﾈ 1
15 ZAV401-160-010-0 S.W 10 1

16 ZAV300-260-010-0 ﾅﾂﾄ M10 1
17 ZA0630-510-230-0 Mﾌﾟｰﾘｶﾊﾞｰ(ｿﾄ)COMP 1

1

2

2
3

4

4

4

5

6

7

7

8

9

9

10

11

12

131415
16

1711

ﾎﾞﾙﾄﾞｰ

ﾎﾞﾙﾄﾞｰ
ﾎﾞﾙﾄﾞｰ

ﾎﾞﾙﾄﾞｰ

ﾎﾞﾙﾄﾞｰ

ﾎﾞﾙﾄﾞｰ

ﾎﾞﾙﾄﾞｰ

ﾎﾞﾙﾄﾞｰ



-12-

5．伝導関係　(その2)

符号 部品コード 部品名称 個数 備   考 小売単価

1 ZA0630-520-200-1 ｿｳｺｳﾃﾝｼｮﾝｱｰﾑCOMP 1
2 ZA1394-221-202-0 ﾌﾞｼﾕ(12X14X15) 2
3 ZA8935-004-026-0 ｶｳﾝﾀﾃﾝｼﾖﾝﾌﾟ-ﾘ 2
4 ZAV704-140-015-0 Cｶﾞﾀﾄﾒﾜ(ｼﾞｸ) 15 4
5 ZAV411-260-012-0 ﾐｶﾞｷｻﾞｶﾞﾈ 12 1

6 ZAV704-140-012-0 Cｶﾞﾀﾄﾒﾜ(ｼﾞｸ) 12 1
7 ZA0630-520-210-1 ｶｳﾝﾀﾃﾝｼｮﾝｱｰﾑCOMP 1
8 ZA3768-311-009-0 ｼﾞﾄﾞｳﾃﾝｼﾖﾝｼﾃﾝｳｹ 4
9 ZA8935-005-031-0 ｶﾊﾞ-SP 2
10 ZA3768-311-010-0 ｼﾞﾄﾞｳﾃﾝｼﾖﾝｶﾗ- 2

11 ZA0630-530-011-1 ﾌﾞﾚｰｷﾛｯﾄﾞSP 1
12 ZA0630-530-200-0 ｶｳﾝﾀﾌﾞﾚｰｷCOMP 1
13 ZA0630-530-012-0 ｶｳﾝﾀﾌﾞﾚｰｷｼｭｰ 1
14 ZAV111-163-002-0 ﾌﾟﾗｽﾅﾍﾞｺﾈｼﾞ M3X20 2
15 ZAV360-260-003-0 ｻﾗﾊﾞﾈﾂｷﾅｯﾄ(M3) M3 2 4T

16 ZA0630-530-013-1 ｽﾌﾟﾘﾝｸﾞ(HT029) 1
17 ZAV200-260-602-5 ﾎﾞﾙﾄ M6X25 1
18 ZAV360-260-006-0 ｻﾗﾊﾞﾈﾂｷﾅﾂﾄ 1ｼﾕ M6 2

1

2

3

3

4

4

4

4

5
6

7

8

88

8

99
10

10

11

1213

14

15

16

17

18

ﾎﾞﾙﾄﾞｰ

ﾎﾞﾙﾄﾞｰ

ﾎﾞﾙﾄﾞｰ


